
Tightening torques 0165 - G 650 Xchallenge
Equipment trim-level variant:
0524 - BMW Motorrad ABS

00 00 125 BMW Service with Annual Inspection (see Maintenance Schedule)

Designation Value Valid

Oil-filter cover to engine block

M6 x 20 10 Nm

Engine oil drain plug

M24 x 2 40 Nm

Drain plug to oil tank

M8 25 Nm

Pinion cover to engine

M6 10 Nm

Locknut to cover 20 Nm

Clamping screws, bottom fork bridge

M8 25 Nm

Cover to fixed fork tube 40 Nm

Clamping screws, top fork bridge

M8 25 Nm

Brake caliper to slider tube 50 Nm

Nut on quick-release axle, front

M20 x 1.25 80 Nm

Front-axle retainer

M6 10 Nm

Screw for hole of locating pin

M8 x 20 17 Nm

Cylinder head cover to cylinder head

M6 x 48 10 Nm

Connector to frame

M6 10 Nm

Bleed screw, brake caliper, front 7 Nm

Rear brake caliper bleed screw 7 Nm

BMW-Motorrad

01/2010

Clic
k h

ere
 to

 buyAB
BYY FineReader 14

www.ABBYY.com
Clic

k h
ere

 to
 buyAB

BYY FineReader 14

www.ABBYY.com

http://go.abbyy.com/?Product=PDFShell&Part=1300.18&ParentProduct=FineReader&Edition=Enterprise&MajorVersion=14&LicensiesCount=1&InstallationId=010203199545886290707749112514&ProductSubset=trial&IsTrial=true&SupportId=0386%2D6775%2D7962%2D0220%2D6758%2D7418&Trial=FERT14010006366924560473&bCount=1&IsSubscription=false&SStatus=false&Region=RUS&nCPU=4&Platform=Win.6.1.7601%2CSp.1.0%2CSuite.256%2CType.1%2CPlatform.2%2Cx64&PlatformName=Windows&PlatformVersion=6.1&PlatformBuild=7601&PlatformSpVersion=1.0&PlatformSuite=256&PlatformOsType=1&PlatformOsPlatformId=2&PlatformIsR2=false&PlatformIsX64=true&Version=14.0.105.269&Language=1049&LanguageIETF=ru%2DRU&Target=Buy&Source=PDFXChange
http://go.abbyy.com/?Product=PDFShell&Part=1300.18&ParentProduct=FineReader&Edition=Enterprise&MajorVersion=14&LicensiesCount=1&InstallationId=010203199545886290707749112514&ProductSubset=trial&IsTrial=true&SupportId=0386%2D6775%2D7962%2D0220%2D6758%2D7418&Trial=FERT14010006366924560473&bCount=1&IsSubscription=false&SStatus=false&Region=RUS&nCPU=4&Platform=Win.6.1.7601%2CSp.1.0%2CSuite.256%2CType.1%2CPlatform.2%2Cx64&PlatformName=Windows&PlatformVersion=6.1&PlatformBuild=7601&PlatformSpVersion=1.0&PlatformSuite=256&PlatformOsType=1&PlatformOsPlatformId=2&PlatformIsR2=false&PlatformIsX64=true&Version=14.0.105.269&Language=1049&LanguageIETF=ru%2DRU&Target=Buy&Source=PDFXChange


Locknut of the final-drive chain tensioning screw

M8 25 Nm

Nut on quick-release axle, rear

M20 x 1.25 80 Nm

Cylinder head to frame, left

M10 x 40 - 10.9, Lubricate screw
Optimoly TA

74 Nm

Cylinder head to frame, right

M10 x 55-10.9, Lubricate screw
Optimoly TA

74 Nm

Frame bottom truss to frame

M8 25 Nm

Swinging-arm stud, left

M20 x 1.5 80 Nm

Swinging-arm pivot bearing stud to frame stub, right

M5
Loctite 243

5 Nm

BMW-Motorrad

01/2010

Clic
k h

ere
 to

 buyAB
BYY FineReader 14

www.ABBYY.com
Clic

k h
ere

 to
 buyAB

BYY FineReader 14

www.ABBYY.com

http://go.abbyy.com/?Product=PDFShell&Part=1300.18&ParentProduct=FineReader&Edition=Enterprise&MajorVersion=14&LicensiesCount=1&InstallationId=010203199545886290707749112514&ProductSubset=trial&IsTrial=true&SupportId=0386%2D6775%2D7962%2D0220%2D6758%2D7418&Trial=FERT14010006366924560473&bCount=1&IsSubscription=false&SStatus=false&Region=RUS&nCPU=4&Platform=Win.6.1.7601%2CSp.1.0%2CSuite.256%2CType.1%2CPlatform.2%2Cx64&PlatformName=Windows&PlatformVersion=6.1&PlatformBuild=7601&PlatformSpVersion=1.0&PlatformSuite=256&PlatformOsType=1&PlatformOsPlatformId=2&PlatformIsR2=false&PlatformIsX64=true&Version=14.0.105.269&Language=1049&LanguageIETF=ru%2DRU&Target=Buy&Source=PDFXChange
http://go.abbyy.com/?Product=PDFShell&Part=1300.18&ParentProduct=FineReader&Edition=Enterprise&MajorVersion=14&LicensiesCount=1&InstallationId=010203199545886290707749112514&ProductSubset=trial&IsTrial=true&SupportId=0386%2D6775%2D7962%2D0220%2D6758%2D7418&Trial=FERT14010006366924560473&bCount=1&IsSubscription=false&SStatus=false&Region=RUS&nCPU=4&Platform=Win.6.1.7601%2CSp.1.0%2CSuite.256%2CType.1%2CPlatform.2%2Cx64&PlatformName=Windows&PlatformVersion=6.1&PlatformBuild=7601&PlatformSpVersion=1.0&PlatformSuite=256&PlatformOsType=1&PlatformOsPlatformId=2&PlatformIsR2=false&PlatformIsX64=true&Version=14.0.105.269&Language=1049&LanguageIETF=ru%2DRU&Target=Buy&Source=PDFXChange

